UMD IGARAT (s FaeoR Ja1idened RO,
e —gReIgR (80710)

dlgEd, — vH 99 @ i el ?g vassi< @) gt
favr— IER ueumH (fB=dY wm)

Ale— f=faRaa § 9 &8 Q1 weHl @& SR g |

Y0 1. U3 3 UHR U4 3 93 &) faemang forRay |
90 2. NI & YRS WHU UR BT STeld §U S9! faemarg forRay |
0 3. I Wed! geal &1 dfvar guiF S |

fwa— SR ureumH (TafaRor argaE)

Ac— fafafead # 9 &2 <1 =l @ SR AR |
go 1. uIRRerfdd G @& UM, YHR T ARAAT BT guiF BT |
Explain the definition, types and structure of Ecosystem.

90 2. 99 &1 9viF PIRT (1S 02)
(31) wrgy HEen (8) uyiRRefde fORifAs (|) ol yars
Explain the following.(Any Two)
(a) Food chain (b) Ecological pyramid (c) Energy flow

Y0 3. a1g UgYY RIT 8?7 $Hd SRV g ARV W ey forfay |

What is Air pollution? Write an Essay on its causes and preventions.



qle—

Q.1

Q.2

Q.3

fawr:— JER yreumH (IS |Y)

fefaiad 4 4 &= a1yl @ S Qg |

Write an essay on any one.

(a) Science

(b) Pollution

(c) Power of Yoga

(d) Computer Education in India

Write a short story on any one.

(a) Vedic literature

(b) Discipline

(¢) Advantage of green trees
(d) The Hindu Trinity

Answar the questions (any five)

(a) How do the trees sing?

(b) Mention three sacrificial fires?

(c) What will happen if the trees are not taken care of?
(d) In what does the cultural heritage of India lie?

(e) Who were called the extremists?

(f) Why does poet campare reason with stream?



Aod). o 9 & AT B/ BERl 8 THISTAT @ JIEe

afafds= (Botany) B.Sc.I, Paper 1
(BACTERIA, VIRUSES, FUNGI, LICHENS AND ALGAE)

ferforRaa vt § 9 &= <1 yeai @ SR 4R (Attempt Any Two Questions)

g-01  SIATURl &1 GeH HREAT BT ARIA U BIfoTg?

Q.1 Give an account on ultrastructure of Bacteria?

Ue—02  UcdPll HUSST # Yo &1 dfad quiF diforg?

Q.2 Explain the reproduction in A/bugo candida with Suitable diagrams?

¥91—03 IrSARAT & Sad gp BT Gz gui- PITT?

Q.3 Explain the life cycle of Vaucheria with diagrams?

gaefafds= (Botany) B.Se.l, Paper 2

(BRYOPHYTES, PTERIDOPHYTES, GYMNOSPERMS AND
PALAEOBOTANY)

Je9—01 A2 o1 gor=9 &1 |fea auie Hifig?
Q.1 Explain the Sexual reprodution in Marchantia with diagrams?

Ue-02 Wi @I 918d AMHING! Ud JMaRed Axa+1 &I |afed goia diforg?

Q.2 Explain the morphology and anatomy of Marsilia with diagrams?
ge-03  UsAd A 49U & fae wd dia fmior &1 |fym aoia aifeg?

Q.3 Explain the embryo development and seed formation in Pinus with
diagrams?



oad. vem af @ Fafia B/ BRI oY s $1 gl

wi=gfagi=_(Zoology) B.Sc.I, Paper 1

fyefaRaa et § @ 58 €1yl @ Sk Afog | (Attempt Any Two Questions)

Q.1

901

Q.2

Y3--02

Q3

Y3-—-03

Q.1

901

Q.2

9R—-02

Q.3

Y3103

Write in details about Molecular Structure of DNA? Write difference
between DNA and RNA in table?

JTAT. B AVAS GRERAT BT fARdRYdd quiF HY? LT Td
IRTAY. H e ford?

Write in details about Immunoglobulin (Ig) and interaction between
antigen-antibody reaction?

TRFATARA @ R § R 9 o 18 TEoR— VTS ufafhar @ aR
¥ e ¥ ford?

Write in details about nervous system and reproductive system of
Pheretima? Write short notes on its importance?

©gaN &I df¥baa Ud greds & fawargde ford @RI & dgen &
8 Bl §aTy |

sifas= (Zoology) B.Sc.1, Paper 2

Write about Parental care in Amphibians? Write short notes on Neoteny?
B ¥ Uge e &1 vl a7 Fed UIeY @ AR H Hed |
fored |

Discuss “Birds are glorified reptiles” in details?

“gefll WY & 39 fawaRyde e aY?

Write in details about Parthenogenesis? Write short notes on
regeneration?

ol degfy @ ar ¥ fawaR & garg? Sfiel § S & IR H Wew |
fore?



dLowH. woi 9¥ & Fafia B/ sl 3 e @) geEEe)

IS (Chemistry) B.Sc.l, Paper 1

frfefaa weat & & 58 < weet @ soR AR (Attempt Any Two Questions)

U -01

Q.1

Y3+—-02

Q.2

Y3103

Q.3

a1 e 1Y o] @7 enfass siffifed ot o swaR w0 3% PR
ST BIRTY?

@ N (b 0, (¢ CO @ G
Draw Molecalar orbital diagram of followings Molecules
@ N (b O, (¢) CO @ G
and find out Bond orders for these Molecules

3% I Rigla Waﬂﬁaﬁmw:ﬁéﬁnwawwsﬁaﬁ%
fa=mg fora?

@ Cr () Cu (¢) Pd (4 Ag (e) Au

Describe Aufbauf Principle and write down electronic configuration for
following

@ Cr () Cu () Pd (d Ag (e) Au
Freferiaa et dee od sraft e @R

(@) XeF, (b) XeOs;(c) XeOF, (d XeO,F,
(e) XeFs

Explain structure and Geometry for following compounds

(@) XeF, (b) XeO;(c) XeOF, (d XeO,F,
(e) XeFs



foadl. wF 9¥ @ a8/ BERI 3 THISTHT @ 9EIadl

WIAeTEd (Chemistry) B.Sc.l, Paper 2

foraforRad geat & & 5t <Y ywAl @& SR ARIY | (Attempt Any Two Questions)

93-—-01

Q.1

9302

Q.2

9303

(a) E,

Q.3

fforRaa &1 aarer HIfig?
(a) PEIBSIT & BEARIA
(b) HEE & TZEH

(c) zoEwEd & JfaedmEd
(d) TACRIMR & SRR
(e) TSIARRIT BT TR & I BB

Describe following

(a) Carbocation & Carbanian

(b)  Carbenes & Nitrenes

(c)  Electrophiles & Nuclephiles

(d) enantiomers & Diastereomers

(¢) Chair & Boat conformation of cyclohexane

I IaTeR0 @1 Fergdl 9 R/S & D/L FH&RUT &1 aredr SIfofy |
Explain R/S & D/L Nomenclatures with Suitable Examples.
fr=feRaa @ amen sifo?

(b) E, (c) E;cb

(d) <Srca—vesy afafsbar

Explain followings

(@ E; (b) E, (¢) E;cb

(d) Diels-Alder reaction



Noad). yoF a¥ & Fffd B/ SRl o (AR ) YIE]

Wrgaemed (Chemistry) B.Sc.l, Paper 3

faferRa uet # 9 5 Q) i @ SR Afw | (Attempt Any Two Questions)

Y101

Q.1

931-02

Q.2

Y—-03

Q.3

e} dTed FHIHRYT AR gHd GURT B ARAT BITQ?
Describe vander waals equation of state & its derivation.

ferforfRad &1 aarar a?

(a) weigest @ M
(b) s W

(c) sHeEH
(d) fRe & geR

Explain following.

(a) Hardy Schulze law

(b)  Gold Number

(¢c) Emulsion

(d) Types of Micelles

SIRT, WM U9 fgeiia it @ sAffifdbar &1 avie $Ifig?

Describe Zero, first & Second order reactions.
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